Int. J. Open Problems Complex Analysis, Vol. 2, No. 2, July 2010 ISSN 2074-2827; Copyright ©ICSRS Publication, 2010 www.i-csrs.org

A Class of Multivalent Functions Involving a Generalized Linear Operator and Subordination

Tariq O. Salim

epartment of Mathematics , Al-Azhar University-Gaza, UP.O.Box 1277, Gaza, Palestine. e-mail: trsalim@yahoo.com, t.salim@alazhar-gaza.edu

Abstract

In this manuscript, a class of multivalent functions defined in terms of a linear multiplier operator containing the generalized Komatu integral operator is introduced and investigated. The main results of inclusion relation, integral preserving property, argument estimate and subordination property are proved by making use of subordination formulas between analytic functions.

Keywords: Multivalent functions, Komatu integral operator, multiplier operator, subordination.

AMS Mathematics Subject Classification (2000): 30C45, 33C20.

1 Introduction

Let $\mathcal{A}(p)$ be the class of functions f(z) of the form

$$f(z) = z^p + \sum_{k=1}^{\infty} a_{p+k} z^{p+k} \quad (p \in \mathbb{N})$$

$$\tag{1}$$

that are analytic and p-valent in the open unit disk $\mathcal{U} = \{z : z \in \mathbb{C}, |z| < 1\}.$

The generalized Komatu integral operator $\mathcal{K}_{c,p}^{\delta} : \mathcal{A}(p) \to \mathcal{A}(p)$ is defined for $\delta > 0$ and c > -p as (see, e.g. [7,14,15])

$$\mathcal{K}_{c,p}^{\delta}f(z) = \frac{(c+p)^{\delta}}{\Gamma(\delta)z^c} \int_0^z t^{c-1} \left(\log\frac{z}{t}\right)^{\delta-1} f(t)dt \tag{2}$$

and $\mathcal{K}^{0}_{c,p}f(z) = f(z)$. For $f(z) \in \mathcal{A}(p)$, it can be easily verified that

$$\mathcal{K}_{c,p}^{\delta}f(z) = z^p + \sum_{k=1}^{\infty} \left(\frac{c+p}{c+p+k}\right)^{\delta} a_{p+k} z^{p+k}.$$
(3)

Now, in terms of $\mathcal{K}_{c,p}^{\delta}$, we introduce the linear multiplier operator $\mathcal{J}_{c,p,\lambda}^{m,\delta}$: $\mathcal{A}(p) \to \mathcal{A}(p)$ as follows:

$$\begin{aligned}
\mathcal{J}_{c,p,\lambda}^{0,0}f(z) &= f(z) \\
\mathcal{J}_{c,p,\lambda}^{1,\delta}f(z) &= (1-\lambda)\mathcal{K}_{c,p}^{\delta}f(z) + \frac{\lambda z}{p}(\mathcal{K}_{c,p}^{\delta}f(z))' = \mathcal{J}_{c,p,\lambda}^{\delta}f(z) \\
\mathcal{J}_{c,p,\lambda}^{2,\delta}f(z) &= \mathcal{J}_{c,p,\lambda}^{\delta}(\mathcal{J}_{c,p,\lambda}^{1,\delta}f(z)) \\
& \cdot \\
& \cdot \end{aligned}$$
(4)

$$\mathcal{J}^{m,\delta}_{c,p,\lambda}f(z) = \mathcal{J}^{\delta}_{c,p,\lambda}(\mathcal{J}^{m-1,\delta}_{c,p,\lambda}f(z)),$$

•

for $\delta > 0$, c > -p, $\lambda \ge 0$ and $m \in \mathbb{N}$.

If $f \in \mathcal{A}(p)$ is given by (1), then making use of (3) and (4) we conclude that

$$\mathcal{J}_{c,p,\lambda}^{m,\delta}f(z) = z^p + \sum_{k=1}^{\infty} B_{k,m}(c,p,\lambda,\delta)a_{p+k}z^{p+k},$$
(5)

where

$$B_{k,m}(c,p,\lambda,\delta) = \left[\left(\frac{c+p}{c+p+k} \right)^{\delta} \left(1 + \frac{\lambda k}{p} \right) \right]^{m}.$$
 (6)

Remark 1:

(i) $\mathcal{J}_{c,p,0}^{1,\delta} \equiv \mathcal{K}_{c,p}^{\delta}$ which is the generalized Komatu operator [7,14,15]. (ii) $\mathcal{J}_{c,1,0}^{1,\delta} \equiv \mathcal{P}_{c}^{\delta}$ which is the integral operator studied by Komatu [8] and Raina and Bapna [11].

(iii) $\mathcal{J}_{1,p,0}^{1,\delta} \equiv \mathcal{I}_p^{\delta}$ which is the integral operator studied by Shams *et al.* [16] and Ebadian *et al.* [5].

(iv) $\mathcal{J}_{c,1,0}^{1,1} \equiv \mathcal{L}_c$ which is the Bernardi-Libra-Livingston integral operator [2]. (v) $\mathcal{J}_{1,1,0}^{1,\delta} \equiv \mathcal{I}^{\delta}$ which is the integral operator studied by Ebadian and Najafzadeh [4]. (vi) $\mathcal{J}_{c,1,\lambda}^{m,0} \equiv \mathcal{D}_{\lambda}^{m}$ which is the generalized Sălăgean operator studied by Al-Oboudi [1]. (vii) $\mathcal{J}_{c,1,0}^{m,0} \equiv \mathcal{D}^{m}$ which is the Sălăgean operator [13].

It can be easily verified for $\delta \geq \frac{1}{m}$, $m \in \mathbb{N}$ that

$$z\left(\mathcal{J}_{c,p,\lambda}^{m,\delta}f(z)\right)' = (c+p)\mathcal{J}_{c,p,\lambda}^{m,\delta-\frac{1}{m}}f(z) - c\mathcal{J}_{c,p,\lambda}^{m,\delta}f(z).$$
(7)

Let P denote the class of functions h(z) of the form

$$h(z) = 1 + \sum_{k=1}^{\infty} h_k z^k \qquad (z \in \mathcal{U}),$$

which are analytic and convex in \mathcal{U} and satisfy the condition

$$\operatorname{Re}(h(z)) > 0 \qquad (z \in \mathcal{U}).$$

For two functions f and g analytic in \mathcal{U} , we say that f(z) is subordinate to g(z) in \mathcal{U} written as $f(z) \prec g(z)$ if there exists a Schwarz function $\omega(z)$, analytic in \mathcal{U} with $\omega(0) = 0$ and $|\omega(z)| < 1$ such that $f(z) = g(\omega(z)), z \in \mathcal{U}$.

By making use of the multiplier operator $\mathcal{J}_{c,p,\lambda}^{m,\delta}$ and the above mentioned principle of subordination, we define and investigate the following subclass of p-valent functions.

Definition 1. A function $f(z) \in \mathcal{A}(p)$ is in the class $\mathcal{S}(m, \delta, c, p, \lambda, \alpha; h)$ if it satisfies the differential subordination

$$\frac{1}{p-\alpha} \left(\frac{z \left(\mathcal{J}_{c,p,\lambda}^{m,\delta} f(z) \right)'}{\mathcal{J}_{c,p,\lambda}^{m,\delta} f(z)} - \alpha \right) \prec h(z) \qquad (z \in \mathcal{U}),$$
(8)

for $p, m \in \mathbb{N}$, c > -p, $\delta > 0$, $\lambda > 0$, $0 \le \alpha < p$ and $h \in P$.

Remark 2: The class $S(m, \delta, c, p, \lambda, \alpha; h)$ contains several well-known as well as new classes of analytic functions. For example:

(i) $\mathcal{S}(1, \delta, 1, p, 0, \alpha; h) \equiv \mathcal{S}_p^{\delta}(\alpha; h)$ which is the class studied by Ebadian *et al.*

[5]. (ii) $\mathcal{S}(1,0,1,p,0,\alpha;\frac{1+Az}{1+Bz}) \equiv \mathcal{S}_p^*(\alpha;A,B)$ which is the class studied by Cho *et al.* [3]. (iii) $\mathcal{S}(1,0,1,p,0,\alpha;\frac{1+z}{1-z}) \equiv \mathcal{S}_p^*(\alpha)$, where $\mathcal{S}_p^*(\alpha)$ consists of all *p*-valent starlike functions of order α . (iv) $\mathcal{S}(1,0,1,p,1,\alpha;\frac{1+z}{1-z}) \equiv \mathcal{C}_p^*(\alpha)$, where $\mathcal{C}_p^*(\alpha)$ consists of all *p*-valent convex functions of order α .

The purpose of this investigation is to establish results as inclusion relation, subordination properties, integral preserving property and argument estimate for the class $\mathcal{S}(m, \delta, c, p, \lambda, \alpha; h)$ by making use of the subordination relations included in the Lemmas of the following section.

2 Required Results

The following Lemmas are needed to prove our main results.

Lemma A. (cf,e.g. Eenigenburg *et al.* [6])

Let $\zeta, \nu \in \mathbb{C}$ and suppose that p(z) is convex and univalent in \mathcal{U} with p(0) = 1and $\operatorname{Re}(\zeta p(z) + \nu) > 0$, $(z \in \mathcal{U})$. If q(z) is analytic in \mathcal{U} with q(0) = 1, then the subordination

$$q(z) + \frac{zq'(z)}{\zeta q(z) + \nu} \prec p(z)$$

implies $q(z) \prec p(z), \quad (z \in \mathcal{U}).$

Lemma B. (cf,e.g. Miller and Mocanu [9])

Let h(z) be convex and univalent in \mathcal{U} and g(z) be analytic in \mathcal{U} with $\operatorname{Re}(g(z)) \geq 0$ $(z \in \mathcal{U})$. If $\varphi(z)$ is analytic in \mathcal{U} with $\varphi(0) = h(0)$, then the subordination $\varphi(z) + g(z)\varphi'(z) \prec h(z)$ $(z \in \mathcal{U})$ implies that $\varphi(z) \prec h(z)$ $(z \in \mathcal{U})$.

Lemma C. (cf,e.g. Ebadian *et al.* [5])

Let q be analytic in \mathcal{U} with q(0) = 1 and $q(z) \neq 0$ for all $z \in \mathcal{U}$. If there exists two points $z_1, z_2 \in \mathcal{U}$ such that

$$-\frac{\pi}{2}\alpha_1 = \arg(q(z_1)) < \arg(q(z)) < \arg(q(z_2)) = \frac{\pi}{2}\alpha_2$$

for some α_1 and α_2 ($\alpha_1, \alpha_2 > 0$) and for all z ($|z| < |z_1| = |z_2|$), then

$$\frac{z_1q'(z_1)}{q(z_1)} = -i\left(\frac{\alpha_1 + \alpha_2}{2}\right)l \quad and \quad \frac{z_2q'(z_2)}{q(z_2)} = i\left(\frac{\alpha_1 + \alpha_2}{2}\right)l$$

where

$$l \ge \frac{1-|b|}{1+|b|}$$
 and $b = i \tan \frac{\pi}{4} \left(\frac{\alpha_1 - \alpha_2}{\alpha_1 + \alpha_2} \right)$

Lemma D. (cf,e.g. Robertson [12])

The function

$$(1-z)^{\gamma} \equiv \exp\left(\gamma \log(1-z)\right) \quad (\gamma \neq 0)$$

is univalent if and only if γ is either in the closed disk $|\gamma - 1| \leq 1$ or in the closed disk $|\gamma + 1| \leq 1$.

Lemma E. (cf,e.g. Miller and Mocanu [10])

Let q(z) be univalent in \mathcal{U} and $\theta(\omega)$ and $\varphi(\omega)$ be analytic in a domain \mathcal{D} containing $q(\mathcal{U})$ with $\varphi(\omega) \neq 0$ when $\omega \in q(\mathcal{U})$. Set

$$Q(z) = zq'(z)\varphi(q(z)), \quad h(z) = \theta(q(z)) + Q(z)$$

and suppose that

1. Q(z) is starlike(univalent) in \mathcal{U} ;

2. Re
$$\left(\frac{zh'(z)}{Q(z)}\right)$$
 = Re $\left(\frac{\theta'(q(z))}{\varphi(q(z))} + \frac{zQ'(z)}{Q(z)}\right) > 0$ $(z \in \mathcal{U})$

If p(z) is analytic in \mathcal{U} with p(0) = q(0) and $p(\mathcal{U}) \subset \mathcal{D}$, and

$$\theta(p(z)) + zp'(z)\varphi(p(z)) \prec \theta(q(z)) + zq'(z)\varphi(q(z)) = h(z),$$

then $p(z) \prec q(z)$, and q is the best dominant.

3 Main Results

We begin our main results by proving the following theorem in which inclusion relationship for the class $\mathcal{S}(m, \delta, c, p, \lambda, \alpha; h)$ is obtained.

Theorem 1. Let $f \in \mathcal{S}(m, \delta - \frac{1}{m}, c, p, \lambda, \alpha; h)$ with $\operatorname{Re}((p - \alpha)h(z) + c + p) > 0$. Then $\mathcal{S}(m, \delta - \frac{1}{m}, c, p, \lambda, \alpha; h) \subset \mathcal{S}(m, \delta, c, p, \lambda, \alpha; h).$

Proof. Let $f \in \mathcal{S}(m, \delta - \frac{1}{m}, c, p, \lambda, \alpha; h)$ and assume that

$$q(z) = \frac{1}{p - \alpha} \left(\frac{z \left(\mathcal{J}_{c,p,\lambda}^{m,\delta} f(z) \right)'}{\mathcal{J}_{c,p,\lambda}^{m,\delta} f(z)} - \alpha \right).$$
(9)

Then q(z) is analytic in \mathcal{U} with q(0) = 1. Making use of (7), then (9) implies

$$(c+p)\left(\frac{\mathcal{J}_{c,p,\lambda}^{m,\delta-\frac{1}{m}}f(z)}{\mathcal{J}_{c,p,\lambda}^{m,\delta}f(z)}\right) = (p-\alpha)q(z) + c + \alpha.$$
(10)

Now, by logarithmic differentiation of (9) and applying (7), we get

$$\frac{1}{p-\alpha} \left(\frac{z \left(\mathcal{J}_{c,p,\lambda}^{m,\delta-\frac{1}{m}} f(z) \right)'}{\mathcal{J}_{c,p,\lambda}^{m,\delta-\frac{1}{m}} f(z)} - \alpha \right) = q(z) + \frac{zq'(z)}{(p-\alpha)q(z) + c + \alpha} \prec h(z).$$
(11)

Since $\operatorname{Re}((p-\alpha)h(z) + c + p) > 0$ by hypothesis above, then applying Lemma A to (11) yields

 $q(z) \prec h(z) \qquad (z \in \mathcal{U})$

which implies $f \in \mathcal{S}(m, \delta, c, p, \lambda, \alpha; h)$.

Theorem 2. Let $1 < \beta < 2$ and $\gamma \neq 0$ be a real number satisfying either $|2\gamma(\beta-1)(p+c)-1| \leq 1$ or $|2\gamma(\beta-1)(p+c)+1| \leq 1$. If $f \in \mathcal{A}(p)$ satisfies the condition

$$\operatorname{Re}\left(1+\frac{\mathcal{J}_{c,p,\lambda}^{m,\delta-\frac{1}{m}}f(z)}{\mathcal{J}_{c,p,\lambda}^{m,\delta}f(z)}\right) > 2-\beta + \frac{c-1}{c+p} .$$

$$(12)$$

Then

$$\left(z\mathcal{J}_{c,p,\lambda}^{m,\delta}f(z)\right)^{\gamma} \prec q(z) = \frac{1}{(1-z)^{2\gamma(\beta-1)(c+p)}} \quad .$$

$$(13)$$

Proof. Let

$$k(z) = \left(z\mathcal{J}_{c,p,\lambda}^{m,\delta}f(z)\right)^{\gamma}.$$

Hence by logarithmic differentiation and using (7), we obtain

$$\frac{zk'(z)}{k(z)} = \gamma(1-c) + \gamma(c+p) \frac{\mathcal{J}_{c,p,\lambda}^{m,\delta-\frac{1}{m}} f(z)}{\mathcal{J}_{c,p,\lambda}^{m,\delta} f(z)}.$$
(14)

So, by virtue of the condition (12), we get

$$1 + \frac{zk'(z)}{\gamma(c+p)k(z)} \prec \frac{1 + (2\gamma - 3)z}{1 - z}.$$
(15)

Now, suppose that

$$\theta(\omega) = 1, \quad q(z) = \frac{1}{(1-z)^{2\gamma(\beta-1)(c+p)}} \text{ and } \varphi(\omega) = \frac{1}{\gamma\omega(c+p)},$$

then making use of Lemma D, q(z) is univalent in \mathcal{U} . It follows that

$$Q(z) = zq'(z)\varphi(q(z)) = \frac{2(\beta - 1)z}{1 - z}$$

and

$$\theta(q(z)) + Q(z) = \frac{1 + (2\beta - 3)z}{1 - z} = h(z).$$

If the domain \mathcal{D} is defined by

$$q(\mathcal{U}) = \left\{ \omega : \left| \omega^{\frac{1}{\eta}} - 1 \right| < \left| \omega^{\frac{1}{\eta}} \right|, \ \eta = 2\gamma(\beta - 1)(c + p) \right\} \subset \mathcal{D},$$

then it is easily verified that the conditions of Lemma E are satisfied. Hence $k(z) \prec q(z)$.

Theorem 3. Let $f \in \mathcal{S}(m, \delta, c, p, \lambda, \alpha; h)$ with $\operatorname{Re}((p - \alpha)h(z) + c + \alpha) > 0$ and c > -p. Then the integral operator \mathcal{K} defined by

$$\mathcal{K}(z) \equiv \mathcal{K}^1_{c,p} f(z) = \frac{c+p}{z^c} \int_0^z t^{c-1} f(t) dt$$
(16)

belongs to the class $\mathcal{S}(m, \delta, c, p, \lambda, \alpha; h)$.

Proof. From (16), it can be easily verified that

$$z\left(\mathcal{J}_{c,p,\lambda}^{m,\delta}\mathcal{K}(z)\right)' + c\mathcal{J}_{c,p,\lambda}^{m,\delta}\mathcal{K}(z) = (c+p)\mathcal{J}_{c,p,\lambda}^{m,\delta}f(z).$$
(17)

Assume that

$$Q(z) = \frac{1}{p - \alpha} \left(\frac{z \left(\mathcal{J}_{c,p,\lambda}^{m,\delta} \mathcal{K}(z) \right)'}{\mathcal{J}_{c,p,\lambda}^{m,\delta} \mathcal{K}(z)} - \alpha \right),$$
(18)

Q(z) is analytic function in \mathcal{U} with Q(0) = 0. It follows from (17) and (18) that

$$(c+p)\frac{\mathcal{J}_{c,p,\lambda}^{m,\delta}f(z)}{\mathcal{J}_{c,p,\lambda}^{m,\delta}\mathcal{K}(z)} = c + \alpha + (p-\alpha)Q(z).$$
(19)

By logarithmic differentiation of (19) and making use of (18), it follows that

$$Q(z) + \frac{zQ'(z)}{c + \alpha + (p - \alpha)Q(z)} = \frac{1}{p - \alpha} \left(\frac{z\left(\mathcal{J}_{c,p,\lambda}^{m,\delta}f(z)\right)'}{\mathcal{J}_{c,p,\lambda}^{m,\delta}f(z)} - \alpha \right) \prec h(z).$$
(20)

Since $\operatorname{Re}((p-\alpha)h(z) + c + \alpha) > 0$ $(z \in \mathcal{U})$, then by Lemma A, we get

 $Q(z) \prec h(z)$

which implies $\mathcal{K}(z) \in \mathcal{S}(m, \delta, c, p, \lambda, \alpha; h)$.

Theorem 4. Let $f \in \mathcal{A}(p)$, $0 < \delta_1, \delta_2 \leq 1$ and $0 \leq \alpha \leq p$. If

$$-\frac{\pi}{2}\delta_1 < \arg\left(\frac{z\left(\mathcal{J}_{c,p,\lambda}^{m,\delta-\frac{1}{m}}f(z)\right)'}{\mathcal{J}_{c,p,\lambda}^{m,\delta-\frac{1}{m}}g(z)} - \alpha\right) < \frac{\pi}{2}\delta_2$$

for some $g \in \mathcal{S}(m, \delta - 1, c, p, \lambda, \alpha; \frac{1+Az}{1+Bz})$, $(-1 \le B < A \le 1)$, then

$$-\frac{\pi}{2}\alpha_1 < \arg\left(\frac{z\left(\mathcal{J}_{c,p,\lambda}^{m,\delta}f(z)\right)'}{\mathcal{J}_{c,p,\lambda}^{m,\delta}g(z)} - \alpha\right) < \frac{\pi}{2}\alpha_2$$

where α_1 and α_2 ($0 < \alpha_1, \alpha_2 \le 1$) are the solutions of the equations

$$\delta_{1} = \begin{cases} \alpha_{1} + \frac{2}{\pi} \tan^{-1} \left(\frac{(1-|b|)(\alpha_{1}+\alpha_{2})\cos\frac{\pi}{2}t}{2(1+|b|)\left(\frac{(p-\alpha)(1+A)}{1+B} + \alpha + c\right) + (1-|b|)(\alpha_{1}+\alpha_{2})\sin\frac{\pi}{2}t} \right), & B \neq -1 \\ \alpha_{1}, & B = -1 \end{cases}$$
and
$$\delta_{2} = \begin{cases} \alpha_{2} + \frac{2}{\pi} \tan^{-1} \left(\frac{(1-|b|)(\alpha_{1}+\alpha_{2})\cos\frac{\pi}{2}t}{2(1+|b|)\left(\frac{(p-\alpha)(1+A)}{1+B} + \alpha + c\right) + (1-|b|)(\alpha_{1}+\alpha_{2})\sin\frac{\pi}{2}t} \right), & B \neq -1 \\ \alpha_{2}, & B = -1 \end{cases}$$

Tariq O. Salim

with $b = i \tan \frac{\pi}{4} \left(\frac{\alpha_1 - \alpha_2}{\alpha_1 + \alpha_2} \right)$ and $t = \frac{2}{\pi} \sin^{-1} \left(\frac{(p-\alpha)(A-B)}{(p-\alpha)(1-AB) + (\alpha+c)(1-B^2)} \right)$.

Proof. Assume that

$$q(z) = \frac{1}{p - \gamma} \left(\frac{z \left(\mathcal{J}_{c,p,\lambda}^{m,\delta} f(z) \right)'}{\mathcal{J}_{c,p,\lambda}^{m,\delta} g(z)} - \gamma \right) , \qquad (21)$$

with $0 \leq \gamma < p$ and $g \in \mathcal{S}(m, \delta - 1, c, p, \lambda, \alpha; \frac{1+Az}{1+Bz})$, $(-1 \leq B < A \leq 1)$. Then q(z) is analytic in \mathcal{U} with q(0) = 1. So, by virtue of (7) and (21), we get

$$[(p-\gamma)q(z)+\gamma]\mathcal{J}_{c,p,\lambda}^{m,\delta}g(z) = (c+p)\mathcal{J}_{c,p,\lambda}^{m,\delta-\frac{1}{m}}f(z) - c\mathcal{J}_{c,p,\lambda}^{m,\delta}f(z),$$
(22)

differentiating both sides of (22) yields

$$(p-\gamma)zq'(z)\mathcal{J}_{c,p,\lambda}^{m,\delta}g(z) + [(p-\gamma)q(z)+\gamma]z\left(\mathcal{J}_{c,p,\lambda}^{m,\delta}g(z)\right)'$$

= $(c+p)z\left(\mathcal{J}_{c,p,\lambda}^{m,\delta-\frac{1}{m}}f(z)\right)' - cz\left(\mathcal{J}_{c,p,\lambda}^{m,\delta}f(z)\right)'.$ (23)

Since $g \in \mathcal{S}(m, \delta - 1, c, p, \lambda, \alpha; \frac{1+Az}{1+Bz})$, then by Theorem 1, we have $g \in \mathcal{S}(m, \delta, c, p, \lambda, \alpha; \frac{1+Az}{1+Bz})$. Let

$$u(z) = \frac{1}{p - \alpha} \left(\frac{z \left(\mathcal{J}_{c,p,\lambda}^{m,\delta} g(z) \right)'}{\mathcal{J}_{c,p,\lambda}^{m,\delta} g(z)} - \alpha \right) , \qquad (24)$$

then making use of (7), we easily obtain

$$\frac{\mathcal{J}_{c,p,\lambda}^{m,\delta}g(z)}{\mathcal{J}_{c,p,\lambda}^{m,\delta-\frac{1}{m}}g(z)} = \frac{c+p}{(p-\alpha)u(z)+\alpha+c} \quad , \tag{25}$$

and from (21), (24) and (25), we get

$$\frac{1}{p-\gamma} \left(\frac{z \left(\mathcal{J}_{c,p,\lambda}^{m,\delta-\frac{1}{m}} f(z) \right)'}{\mathcal{J}_{c,p,\lambda}^{m,\delta-\frac{1}{m}} g(z)} - \gamma \right) = q(z) \left[1 + \frac{zq'(z)}{[(p-\alpha)u(z) + \alpha + c]q(z)} \right].$$
(26)

Now, since

$$u(z) \prec \frac{1+Az}{1+Bz} \quad (-1 \le B < A \le 1)$$

then, we easily obtain

$$\left| u(z) - \frac{1 - AB}{1 - B^2} \right| < \frac{A - B}{1 - B^2} \quad (z \in \mathcal{U}; B \neq -1)$$
(27)

and

$$\operatorname{Re}(u(z)) > \frac{1-A}{2} \quad (z \in \mathcal{U}; B = -1).$$

$$(28)$$

(27) and (28) can be rewritten as

$$\left| (p-\alpha)u(z) + \alpha + c - \frac{(\alpha+c)(1-B^2) + (p-\alpha)(1-AB)}{1-B^2} \right| < \frac{(p-\alpha)(A-B)}{1-B^2}$$
$$(B \neq -1)$$

and

Re
$$((p - \alpha)u(z) + \alpha + c) > \frac{(1 - A)(p - \alpha)}{2} + \alpha + c$$
 $(B = -1)$

Setting

where

$$-\rho < \theta < \rho; \quad \rho = \frac{(p-\alpha)(A-B)}{(\alpha+c)(1-B^2) + (p-\alpha)(1-AB)} \quad (B \neq -1)$$
$$-1 < \theta < 1 \qquad (B = -1) ,$$

 $(p-\alpha)u(z)+\alpha+c=r\exp\left(i\frac{\pi}{2}\theta\right),$

then

and

$$\frac{(p-\alpha)(1-A)}{1-B} + \alpha + c < r < \frac{(p-\alpha)(1+A)}{1-B} + \alpha + c \qquad (B=-1)$$

and

$$\frac{(p-\alpha)(1-A)}{2} + \alpha + c < r \qquad (B \neq -1)$$

Since q(z) is analytic in \mathcal{U} with q(0) = 1, then by applying Lemma B to (26) yields $q(z) \prec h(z)$.

Now, assume that

$$Q(z) = \frac{1}{p - \gamma} \left(\frac{z \left(\mathcal{J}_{c,p,\lambda}^{m,\delta - \frac{1}{m}} f(z) \right)'}{\mathcal{J}_{c,p,\lambda}^{m,\delta - \frac{1}{m}} g(z)} - \gamma \right) \qquad (0 \le \gamma < p) \quad , \tag{29}$$

then by means of (26) and (29), we have

$$\arg(Q(z)) = \arg(q(z)) + \arg\left(1 + \frac{zq'(z)}{[(p-\alpha)u(z) + \alpha + c]q(z)}\right).$$

Suppose there exist $z_1, z_2 \in \mathcal{U}$ such that

$$-\frac{\pi}{2}\alpha_1 = \arg(q(z_1)) < \arg(q(z)) < \arg(q(z_2)) = \frac{\pi}{2}\alpha_2.$$

91

Thus by Lemma C, we have

$$\frac{z_1q'(z_1)}{q(z_1)} = -i\left(\frac{\alpha_1 + \alpha_2}{2}\right)l \quad \text{and} \quad \frac{z_2q'(z_2)}{q(z_2)} = i\left(\frac{\alpha_1 + \alpha_2}{2}\right)l,$$

where $l \ge \frac{1 - |b|}{1 + |b|}$ and $b = i\tan\frac{\pi}{4}\left(\frac{\alpha_1 - \alpha_2}{\alpha_1 + \alpha_2}\right).$

We have the following two cases:

(i) When $B \neq -1$,

$$\arg(Q(z_1) = -\frac{\pi}{2}\alpha_1 + \arg\left(1 - il\left(\frac{\alpha_1 + \alpha_2}{2}\right)\frac{e^{-i\frac{\pi}{2}\theta}}{r}\right) \\ = -\frac{\pi}{2}\alpha_1 + \arg\left(1 - \frac{l}{r}\left(\frac{\alpha_1 + \alpha_2}{2}\right)\cos\frac{\pi}{2}(1 - \theta) + \frac{il}{r}\left(\frac{\alpha_1 + \alpha_2}{2}\right)\sin\frac{\pi}{2}(1 - \theta)\right) \\ \le -\frac{\pi}{2}\alpha_1 - \tan^{-1}\left(\frac{l(\alpha_1 + \alpha_2)\sin\frac{\pi}{2}(1 - \theta)}{2r + l(\alpha_1 + \alpha_2)\cos\frac{\pi}{2}(1 - \theta)}\right) \\ \le -\frac{\pi}{2}\alpha_1 - \tan^{-1}\left(\frac{(1 - |b|)(\alpha_1 + \alpha_2)\cos\frac{\pi}{2}t}{2(1 + |b|)\left(\frac{(p - \alpha)(1 + A)}{1 + B} + \alpha + c\right) + (1 - |b|)(\alpha_1 + \alpha_2)\sin\frac{\pi}{2}t}\right) \\ = -\frac{\pi}{2}\delta_1$$

and

$$\arg(Q(z_2) \ge \frac{\pi}{2}\alpha_2 + \tan^{-1}\left(\frac{(1-|b|)(\alpha_1+\alpha_2)\cos\frac{\pi}{2}t}{2(1+|b|)\left(\frac{(p-\alpha)(1+A)}{1+B} + \alpha + c\right) + (1-|b|)(\alpha_1+\alpha_2)\sin\frac{\pi}{2}t}\right) = \frac{\pi}{2}\delta_2.$$

(ii) When
$$B = -1$$
, similarly we have
 $\arg(Q(z_1)) = \arg\left(q(z_1) + \frac{zq'(z_1)}{[(p-\alpha)u(z_1) + \alpha + c]q(z_1)}\right) \leq -\frac{\pi}{2}\delta_1$
and
 $\arg(Q(z_2)) = \arg\left(q(z_2) + \frac{zq'(z_2)}{[(p-\alpha)u(z_2) + \alpha + c]q(z_2)}\right) \geq \frac{\pi}{2}\delta_2.$

The above two cases contradict the assumptions of the theorem. Hence the proof is complete.

By suitable choice of the parameters $m, \delta, c, p, \lambda, \alpha$ and the function h, one can deduce several special cases of the above theorems. For example, when m = 1 and $\lambda = 0$ the above theorems reduce to the results recently obtained by Ebadian *et al.* [5].

4 Open Problem

Let the linear operator $\mathcal{D}_{p,\lambda}^{n,\alpha}: \mathcal{A}(p) \to \mathcal{A}(p)$ be defined as follows

$$\begin{split} \mathcal{D}_{p,\lambda}^{0,0}f(z) &= f(z) \\ \mathcal{D}_{p,\lambda}^{1,\alpha}f(z) &= (1-\lambda)\Omega_p^{\alpha}f(z) + \frac{\lambda z}{p}(\Omega_p^{\alpha}f(z))' = \mathcal{D}_{p,\lambda}^{\alpha}f(z) \\ \mathcal{D}_{p,\lambda}^{2,\alpha}f(z) &= \mathcal{D}_{p,\lambda}^{\alpha}(\mathcal{D}_{p,\lambda}^{1,\alpha}f(z)) \\ & \cdot \\ & \cdot \\ \mathcal{D}_{p,\lambda}^{n,\alpha}f(z) &= \mathcal{D}_{p,\lambda}^{\alpha}(\mathcal{D}_{p,\lambda}^{n-1,\alpha}f(z)) \end{split}$$

for $n \in \mathbb{N}$, $\lambda \ge 0$ and $0 \le \alpha < 1$, where

$$\Omega_p^{\alpha} f(z) = \frac{\Gamma(1+p-\alpha)}{\Gamma(1+p)} z^{\alpha} D_z^{\alpha} f(z)$$

and $D_z^{\alpha} f(z)$ is the well known Riemann-Liouville fractional derivative of order α ($0 \leq \alpha < 1$) (see, e.g. Srivastava and Aouf [17]). The question arises that if we rewrite the class defined in Definition 1 by replacing $\mathcal{J}_{c,p,\lambda}^{m,\delta} f(z)$ by $\mathcal{D}_{p,\lambda}^{n,\alpha} f(z)$, then can the main results obtained in the above theorems be derived for this class?. More precisely, what equation can be derived instead of equation (7) in order to proceed to the main results?

References

- F.M. Al-Oboudi, On univalent functions defined by a generalized Salagean operator. Int. J. Math. Math. Sc. 2004(27)(2004),1429-1436.
- S.D. Bernardi, Convex and starlike univalent functions. Trans. Amer. Math. Soc. 135(1969),429-446.
- [3] N.E. Cho, O.S. Kwon and H.M. Srivastava, Inclusion relationships and argument properties for certain subclasses of multivalent functions associated with a family of linear operators. J. Math. Anal. Appl. 292(2004), 470–483.
- [4] A. Ebadian and S. Najafzadeh, Uniformly starlike and convex univalent functions by using certain integral operator. Acta Univ. Apulensis 20(2009), 17-23.

- [5] A. Ebadian, S. Shams, Z.G. Wang and Y. Sun, A class of multivalent analytic functions involving the generalized Jung-Kim-Srivastava operator. Acta Univ. Apulensis 18(2009), 265-277.
- [6] P. Eenigenburg, S.S. Miller, P.T. Mocanu and M.O. Reade, On a Briot-Bouquet differential subordination. Rev. Roumaine Math. Pures Appl. 29(1984), 567–573.
- [7] S.M. Khairnar and M. More, On a subclass of multivalent β-uniformly starlike and convex functions defined by a linear operator. IAENG Int.
 J. Appl. Math., 39:3, IJAM 3-39-06 (2009).
- [8] Y. Komatu, On analytic prolongation of a family of integral operators. Mathematica (Cluj) 32(55)(1990),141-145.
- S.S. Miller and P.T. Mocanu, Differential subordinations and univalent functions. Michigan Math. J. 28(1981), 157–171.
- [10] S.S. Miller and P.T. Mocanu, On some classes of first order differential subordinations. Michigan Math. J. 32(1985), 185–195.
- [11] R.K. Raina and I.B. Bapna, On the starlikeness and convexity of a certain integral operator. Southeast Asian Bull. Math. 33(2009), 101-108.
- [12] M.S. Robertson, Certain classes of starlike functions, Michigan Math. J. 32(1985), 135–140.
- [13] S.G. Sălăgean, Subclasses of univalent functions. in: Complex Analysis, Proc. 5th Rom.-Finn. Semin. Part 1, Bucharest, 1981, in: Lecture Notes in Math., Vol. 1013, 1983, pp. 362-372.
- [14] T.O. Salim, Coefficient inequalities for certain classes of multivalent functions defined by generalized linear operator. (submitted).
- [15] T.O. Salim, Integral properties of certain subclasses of multivalent functions with complex order. (submitted).
- [16] S. Shams, S.R. Kulkarni and J.M. Jahangiri, Subordination properties of p-valent functions defined by integral operators. Int. J. Math. Math. Sci. Article ID 94572 (2006), 1-3.
- [17] H.M. Srivastava and M.K. Aouf, A certain fractional derivative operator and its applications to a new class of analytic and multivalent functions with negative coefficients I. J. Math. Anal. Appl. 171(1992), 1-13; II, J. Math. Anal. Appl. 192(1995), 673-688.